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Productivity — Who’s to blame?

Damian James MRICS MCIArb MCIOB MCInstCES FCABE, Mediator Consultant, Diales

Damian James continues
his look at productivity

RODUCTIVITY losses continue

to form a major cost to employers

and contractors alike. The argument
as to who is liable for such costs will be
continually debated and, in most instances,
decided by a tribunal. Having carried out a
recent survey into productivity, the results
provided interesting reading.
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Having asked which factors were
considered to be the biggest causes of
losses in productivity; which approaches
were considered the best method of
demonstrating a lack of productivity; and
what the majority of disruption is caused
by; the final question in the survey, and
perhaps the most direct, gave the most
significant and overwhelming response.
The yes/no question was, do you

think that contractors receive adequate
recompense for disruption costs caused
by employer events? At this stage, it is
worth understanding which organisations
the respondents worked for; 40% worked
for contractors and 30% worked for
consultants. The majority opinion (90%)
was that contractors do not receive
adequate compensation for disruption
costs, yet the respondents saw the lack
of direction from senior management and
supervision as being primary causes for
additional costs being incurred.

The respondents felt the best method
of evidencing costs came by retaining
detailed site records, in the form of diaries,
allocation sheets and wages. Interestingly,
these are both methods that would be
at the authority and direction of senior
management and supervision on site.

Substantiation of costs

The majority of contracts differ in their
approach to the form and method of
providing notices, but generally the
approach to the substantiation of costs
should be consistent. Wikipedia provides
the following insight to the well quoted

idiom, the devil is in the detail. It states that the “catch or
mysterious element hidden in the details derives from the earlier
phrase ‘God is in the detail” expressing the idea that whatever one
does should be done thoroughly; i.e. details are important.” If
contractors genuinely feel unsatisfied with their recovery in loss
of productivity claims, but recognise the need to evidence their
submissions with detail, then why do they consistently fail to
produce the substantiation required for success? Bram Stoker in his
novel Dracula stated: “We learn from failure, not from success.”

Disruption prevents progress and reduces the output of the
primary construction resources, labour and plant. Disruption is not
prolongation. Prolongation costs are a function of time. Disruption
does not necessarily result in delay. If contractors claim that they
could not achieve their planned output because of an employer’s
event or cause, the remedy for this is damages.

Where disruption leads to a loss of productivity that results in
the work being delayed, the contractor must demonstrate such.
In order to substantiate a claim of this nature the contractor must
establish that the actual progress of the work was disrupted and
the cause was a breach of contract by the employer or an event
that entitles the contractor to reimbursement of cost. We have to
ask the questions:

How does the contractor evidence its costs?
e Identify the work activities that were affected.
e  Evidence that this caused an extra cost.

How does the contractor demonstrate disruption to its progress?
e Actual progress must be disrupted.
e The as-built programme must evidence the disruption.

What does the as-built potentially miss?

e  Where the contractor fails to comply with a timely notice
that is condition precedent to its rights to relief.

e Human factors.

e Specific factors applicable to the morale of the project, the
company and the country.

What does the contract ask for?

e It permits claims that identify specific events and are
breaches of contract by the employer.

e Events for which the contract specifically provides
extra Costs.

Where do the additional costs go? Are they recoverable?

e The assumption the contractor makes in its claim for loss
of productivity is that the tender was efficiently correct.

e The contractor makes a claim for the losses in productivity.

e The basis of calculation requires records to be available.

What does the contractor have to do?
e Quantify the disruption costs once it has established that
loss of productivity has occurred and caused a delay.
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e Compare the actual cost with what the cost would have
been was it not for the disruption.

e Demonstrate that the planned cost is reasonable.

e  Establish that everything reasonable has been done to
minimise the cost of the disruption.

e  Cost details of the affected resource (as determined from
the contemporaneous records of down time and so on)
must be compiled from the site accounting records.

On this basis, any resulting disruption claim will be in respect of
actual loss and expense incurred, instead of reference to tender
allowances. The basis of all these calculations depends very much
on the records. Commentators often suggest that it is in the ambit
of the clause that allows the recovery of such costs. That is to say,
that it is neither an expressed or implied provision of the contract
and to some extent it may be considered a tacit term.

Many of us remain unconvinced. The Oxford Dictionary
offers some insight with its definition of ‘ambit’: “The scope,
extent, or bounds of something.” And again, ‘tacit’: “Understood
or implied without being stated.” The problem that many have
with ‘tacit’ is who exactly is it understood by? The contractor, yes.
It understands but is the employer aware of this? Can its legal
support genuinely convince the employer that it is a tacit term of
the contract with a contractor that it has to pay for something that
does not have a prescribed route through the contract?

In the event of records being submitted, employers will contend

that the contractor’s cost records are insufficiently detailed. The
contractor should have, and no doubt in a modern world could
track its costs to show, a nexus between the employer’s actions
and the contractor’s loss of production.

Employers may have an argument as to the extent the
contractor failed to modify its accounting system to collate and
collect job costs, and should be barred from using the total cost
method. Perhaps pre-agreement of the use of indices holds the
key to unlocking the recovery of lost productivity costs? Perhaps
an indices for tacit costs and a sophisticated cost system for
employer events is the answer and resolution to the blame game?

What can contractors do?

Current research suggests that whilst contractors are not fairly
recovering their costs, it is their own lack of supervision and
direction from senior management that is the root cause of

such failings. Until a contractor can accommodate the loss of
productivity into its contract either by the ambit, tacit, sympathy
clause or the pre-agreement of indices in respect of certain
events, then it has to continue to claim on a total cost basis. The
contractor will not have the level of detail to satisfy any employer
enquiry into the intrinsic or extrinsic factors that have been
discussed in this article and those before. The alternative returns
the contractor to the tribunal, to evidence that:

e There was no other means of measuring the costs other
than the submission of total costs.

e The productivity rates used in its tender were reasonable.

e The costs that the contractor has incurred as a result of a
change are not excessive.

e The resulting additional costs are not the responsibility of
the contractor but the employer.

The use of indices based on detailed research could be placed
before the tribunal and could provide insight into the reasons why
the true value of loss in the productivity claims is not recovered.
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Research and analysis of results was compiled with Christiaan Bredenkamp from
Driver Trett, Durban, South Africa
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Which factors do you consider to be the biggest — Percentage of
causes of losses in productivity ? responses 0-60%

Culture: Is there resistance to change within the
culture of the workforce?

Education: Would a better educated workforce
handle change in a more sophisticated way?

Social media (unauthorised): Is the workforce
preoccupied rather than dealing with the task?

Alcohol: Is the abuse of alcohol on the evening
before a work day a factor in the workforce’s
ability?

Fatigue: Are travel conditions/working hours
causing genuine fatigue a factor?

Payment terms: Does the workforce expect to
receive improved pay for a change?

Home conditions: Is the condition and domestic
wellbeing a cause to the workforce?

Supervision: Their ability to communicate, look
ahead, anticipate problems and be proactive?

Inability to

Working conditions . . .
e = . . .

Lack of direction from senior management ......
Working rule arrangements: Is change effected by

union control?

Climatic conditions: Does change management

differ in hot and cold climates?

Religious observance: Is change effected by

religious observance?

Other (union involvement and workers on hourly ..

pay

apt to change

Which approach do you consider as being the best Percentage of
method of demonstrating a lack of productivity? responses 0-40%

A suitable sophisticated cost system . . .I

Do you consider the majority of disruption to be — Percentage of
caused by: responses 0-25%

An increase or change in work load? . .I

The social economic effect of having

changed or increased work load?
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